AVETEER

xa2% KYFAZE 5 0 @AMy A—U—2 B/
HEaR 2022%F06H11H(L) 138305 HEsE
=i AR 1 9043 PKEK : 72U Xig/mE/ Ey F
E:] A HEX BIE =M BB BIE
RYFIASvear— AR NME SIREES BB EE RE
SIAYU—RTY MR—ILOST 0 i 1
0 0 g 1
vy >3-y YYIR
FP a5/2 = 5 FP
GK E S S £ GK
7243 [out] BT BEX [in]JHE =i 58 7
724y [outlk%s =B [in]EBPE AN 70 73
854 [out]XEF Hh [in]ElE FzT 3T 70 73
70 &
837
BE/Ri5
#s 7ozh 27
2 BEF—L a1 a2 a3 -
34 HBS V 26 n HS
68 TS V 1 - s
23 GIED
8 2 d—+vo
2 1 d—F—Fvo
1 1 ATHAR
8 5 BiEIJU—Fvo
1 0 EEIU—Fv o
0 0 PK
s 2R 5 =54
>a—-bk
BFL No Pos  Pos No
Y CIES
=T 123 23 | GK GK 1
B &R 16 DF DF 5
RE Hh 22 DF DF 6
g Bt 6 MF DF 18
E LK 11  MF MF 7
BT X 13 MF MF 17
S&E RFE  [Cap] 14 MF MF = 30
X5 =SB 15  MF  MF @ 32
1 INFI RE 27  MF FW 9
=i BTER 38 MF FW 11
8 & 24 | FW FW = 26
SuB
XS EKX 31 GK GK 31
&R K 3 DF DF 15
HEO L 25  DF DF 24
1 [l SEZ 7 FW MF 4

251080 <Y FNo.
SAGAT > S+ )\~ Uiki%i5E
£/
nE

%

BABEH

s
EI/N

=t

|
EXTVN

B

8]EH

SV
[Kickoff]

>3-y
JgL—
e>o

ﬁ_
#ak
&
TR
£

[out]—A
[out]AtH
[out]FeH
[out]ILIE
[out]f&ER

I
A
BT
— i
—

[inN]F&
[iN]&7E
[in]=4E
[in]=R#k
[in]&=40

BR FER (=K i)
BR =R (LA X
"/RE
BR =R
BR =R

FPSAREL
—K T—

LA HEX

3
P
o

BFE
IR S

1EH
ER Bk
e =
A EXR
Kb fES
WA #/  [Cap]

=

bal

49

AE
100A

YYIR
JdL—
e>o

FSARNE2

Y

Y

2o
FE

e 1103

fEX

SuB
1518
IEfR
i)
—fat



w5

FAER ANt
AR 1
o

HiE

o
=]

t>1— Mg

18
20

FW
FW
FW

MF
MF
MF

14
22
33



